Precalculus R-3 16-17
Midterm Final
Evaluate each function.
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Perform the indicated operation.
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h(x ) 4x -3 i
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D) 2x* —5x-25
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Sketch the graph of each function.
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Find all zeros.
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State the possible rational zeros for each function. Then find all zeros.
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Divide.
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Find the exact value of each trigonometric funct&ngn
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Graph each function using radians. ,
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Simplify. Your answer should contain only positive exponents.
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Solve each equation.
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Condense each expression to a single logarithm.
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Expand each logarithm.
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Find the value of the trig function indicated.
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